6—2 EADHIERNLSHE

B (R FE)
z B uow | e | 9 A 2 kD pe=T
#omowoE B ™ 2% | esx | movy | oavy | ey | reww | 0| 2ot i
TR 15 F 1,138 1,138 737 214 - - - 21 166 - -
T O 16 F B 740 740 539 157 - - - 32 12 - -
TR 17T & F 572 572 496 76 - - - - - - -
TR 18 F R 80 80 274 80 - - - - - - -
T 10 & & - - - - - - - - - - -
imE - - - - - - - - - - -
LK - - - - - - - - - - -
X - - - - - - - - - - -
C - - - - - - - - - - -
Y Ly - . - - - - - : - - .
& - - - - - - - - - - -
M - - - - - - - - - - -
T ARIE BEBBEREICEUIERLE,
2 JARYRVBTATUF1E, hITVICaEBLELT,




